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EXERCISE 8.6
Divide:

1.x*—5x +6 by x—3

Solution:

We have,

(x* —5x +6) / (x —3)

Let us perform long division method,
x —2

-3 )z —5x 16

x2 —3z
—2r +6

—2x 46

=~ the Quotient is x — 2

2. ax’ — ay® by ax+ay

Solution:

We have,

(@’ —ay’)/ (ax-+ay)

(ax* —ay?)/ (ax+ay) = (x - y) + O/(ax-+ay)
=(x-y)

=~ the answer is (x —y)

3. X'~y by X2 —y?

Solution:

We have,

(x*=y) (< -y?)

(" =y (¢ -y) =X+ +0/(x" ~y)
= X2 + y2

- the answer is (X° + y°)

4. acx® + (bc + ad)x + bd by (ax + b)
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Solution:

We have,

(acx? + (bc + ad) x + bd) / (ax + b)

(acx? + (bc + ad) x + bd) / (ax + b) = cx + d + 0/ (ax + b)
=cx+d

=~ the answer is (cx + d)

5.(@°+2ab+b% - (@ +2ac+c)by2a+b+c

Solution:

We have,

[(a® + 2ab + b%) — (a® + 2ac + ¢9)] / (2a + b + c)

[(a® +2ab +b?) — (a®+ 2ac +c?)]/(2a+b+c)=b—c+0/(2a+b +c)
=b-c

=~ the answer is (b — ¢)

6. 1/4x* - 1/2x — 12 by 1/2x — 4
Solution:

We have,

(1/4x% — 1/2x — 12) | (1/2x — 4)

Let us perform long division method,

P

T —217
3z
I 40
Iz _12

12
=~ the Quotient is x/2 + 3
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